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Needs@"SCMTheory‘" D

In[3]:= ? SeqPlot

SeqPlot @modSequence, options... D plots a modulo sequence as a
discrete set of lines. SeqPlot @function, range, options... D
samples the function, with the possibility of adding the rule
Continuous ->True to overlay the sampled function. See Options @
SeqPlot D for a list of the default options.

In[4]:= Options @SeqPlot D

Out[4]= 8Points Æ True, Lines Æ True, PointStyle Æ PointSize @0.03 D,
LineStyle Æ Thickness @0.012 D, Repeat Æ 1, Causal Æ True,
TickPeriod Æ Automatic, Continuous Æ False, PlotRange Æ All, Stretch Æ 1,
PadFactor Æ 12, InterpStyle Æ Thickness @0.02 D, Interpolate Æ False,
InterpGraphic Æ Line <

In[1]:= seq = 84, 3, 1, 0, 1, 2 <;



In[2]:= SeqPlot @seq D;
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In[3]:= SeqPlot @seq, Causal → False, Frame → True, Axes → False D;
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In[4]:= SeqPlot Aseq, Repeat → 3, Causal → False, AspectRatio →
1
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, Frame → True E;
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In[5]:= SeqPlot Aseq, Repeat → 3, Causal → False, AspectRatio →
1
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, Frame → True,

TickPeriod → 1E;
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Sampling a Function

In[6]:= SeqPlot ASin @2 π xD, 9x, 0, 1 −
1
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=, Frame → True E;
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In[7]:= SeqPlot ASin @2 π xD, 9x, 0, 1 −
1
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,
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=, Frame → True, Continuous → True E;
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Changing Plot Styles

In[8]:= SeqPlot ASin @2 π xD, 9x, 0, 1 −
1

��������
10

,
1

��������
10

=, Lines → False, Frame → True,

Continuous → True, Causal → False E;
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In[9]:= SeqPlot ASin @2 π xD, 9x, 0, 1 −
1
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,
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10

=, Points → False,

Continuous → True, Frame → True, FrameTicks → None, Ticks → None,

LineStyle → 8GrayLevel @0.5 D, Thickness @0.01 D, Dashing @80.01, 0.02 <D<E;
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In[10]:= SeqPlot ASin @2 π xD, 9x, 0, 1 −
1
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,
1

��������
10

=, Frame → False, FrameTicks → None,

Ticks → None, PointStyle → 8PointSize @0.06 D, RGBColor @0.5, 0, 0 D<,

LineStyle → 8GrayLevel @0.1 D, Dashing @80.01, 0.02 <D<E;

In[11]:= SeqPlot ASin @2 π xD,

9x, 0, 1 −
1
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,
1

��������
11

=, Continuous → True, Causal → False, Repeat → 1,

AspectRatio →
1

������������
2.5

, Lines → False, Frame → False, FrameTicks → None,

Ticks → None, PointStyle → 8PointSize @0.03 D, GrayLevel @0.5 D<,

PlotStyle → Thickness @0.03 DE;
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Rescaling the Sampling Period

In[12]:= SeqPlot @seq D;
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In[13]:= SeqPlot @seq, Stretch → 0.5 D;
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In[15]:= SeqPlot ARepeat @seq, 6 D, Stretch → 3, Causal → False, AspectRatio →
1
�����
4

E;
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In[16]:= SeqPlot A81, 2, 3, 4, 5 <, LineStyle → 8Thickness @0.02 D, RGBColor @0, 0, 1 D<,

Points → False, Causal → False, Repeat → 2, AspectRatio →
1
�����
3

E;
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In[17]:= SeqPlot AInterpolate @81, 2, 3, 4, 5 <, 3 D, Stretch →
1
�����
3

, Points → False,

Causal → False, Repeat → 2, AspectRatio →
1
�����
3

, TickPeriod → 3E;
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In[18]:= Show@%, %%D;
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In[19]:= SeqPlot A
x3
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, 9x, 1, 2 −
1
�����
5

,
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5

=,

Continuous → True, Stretch → 10, AspectRatio →
1
�����
4

,

Causal → False, Repeat → 3, Frame → False, FrameTicks → None,
TickPeriod → 1, PointStyle → 8PointSize @0.03 D, RGBColor @0.5, 0, 0.3 D<,

LineStyle → 8GrayLevel @0.1 D, Dashing @80.0005, 0.02 <D<E;
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In[21]:= SeqPlot ACos@2 π xD, 9x, 0, 1 −
1
�����
7

,
1
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7

=, Continuous → True, Stretch →
1
�����
2

,

TickPeriod → 2, AspectRatio →
1
�����
4

, Causal → False, Repeat → 3, Frame → False,

FrameTicks → None, PointStyle → 8PointSize @0.03 D, RGBColor @0.5, 0, 0.3 D<,

LineStyle → 8GrayLevel @0.1 D, Dashing @80.0005, 0.02 <D<E;
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In[22]:= SeqPlot A4 Cos@π xD2, 9x, 0, 1 −
1
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=,

Continuous → True, Stretch → 10, AspectRatio →
1
�����
4

,

Causal → False, Repeat → 1, Frame → False, FrameTicks → None,
TickPeriod → 1, PointStyle → 8PointSize @0.03 D, RGBColor @0.5, 0, 0.3 D<,

LineStyle → 8GrayLevel @0.1 D, Dashing @80.0005, 0.02 <D<E;
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Interpolation

In[23]:= style = Sequence ALines → False, Interpolate → True,

Causal → True, Ticks → None, Frame → False, Axes → False,

AspectRatio →
1
�����
2

, PointStyle → RGBColor @1, 0, 0 D, Repeat → 1E;

Block @8$DisplayFunction = Identity <,
plots = Table @8SeqPlot @81, 2, 3, 4 <, InterpGraphic → Point, InterpStyle →

8RGBColor @0, 0, 1 D, PointSize @0.03 D<, PadFactor → iii, style D,
SeqPlot @81, 2, 3, 4 <, InterpStyle → 8RGBColor @0, 0, 1 D<,

PadFactor → iii, style D<, 8iii, 1, 4 <DD;
Show@GraphicsArray @plots DD;
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In[26]:= SeqPlot Ax3, 9x, 1, 2,
1
�����
4

=, Interpolate → True,

InterpStyle → RGBColor @0.6, 0.6, 0.1 D, PlotStyle → RGBColor @0.9, 0.4, 0.3 D,

Continuous → True, Repeat → 3, Causal → False, AspectRatio →
1
�����
4

E;
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